2707203

CONSTRUCTION MANAGEMENT i
WORKSHOP TECHNOLOGY II
AND WATER SUPPLY

June/July 2021

Time: 3 hours

THE KENYA NATI()NA EXAMINATIONS COUNCIL

DIPLOMA IN CIVIL ENGINEERING

MODULE I

CONSTRUCTION MANAGEMENT [, WORKSHGP
TECHNOLOGY IL AND WATER SUPPLY

3 hours

INSTRUCTIONS TO CANDIDATES

You should have the following for this examination:
Answer booklel;
Mathematical tables/scientific caleulator:
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SECTION A: CONSTRUCTION MANAGEMENT I
Answer THREE questions from this section.
Explain two specialization comprising the scope of construction. {4 marks)

State three roles of Kenya Bureau of standards in the construction industry.
(3 marks)

Explain five principles of management. (10 marks)
Define each of the following terms:

i) management;
(i)  organization. (3 marks)

State three advantages of each of the following organizational structures:

(i) military;

(i)  staff pattern. Ch (6 marks)
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Bixplain three methods of filing documents. \3 . {6 marks)

%I

Fxplain two types of formal relationships in an organization. {4 marks)

State four reasons jor a site layout plan. {4 marks)

Outline five fhctors 1o consider in the design of a site layout plan. —p (10 marks)

State three disadvantages of each of the following types of contracts:

i Lumpsun;</
(ity  Cost plus percentage fee. {6 marks)
Differentiate between serial and negotiated methods of tendering. (4 marks)
Explain five remedies o the “breach of contract’ . RS {10 marks)
State four factors that render a contract nul! and void. 1 {4 marks)
Hxplain three requirements of a valid contract. f_ (6 marks)
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SECTION B: WORKSHOP TECHNOLOGY II (ELECTRICAL)

Answer ONE question from this section. & .
C
S (a) Describe each of the following terms as used in electrical installation: oﬁ\ﬁ ; @S
¢ A
e
(i) switch; C
()  fuse; O~
Q‘C\

(iii)  earthing;

(iv)  socket. (8 marks) !
: . . o
b @ With the aid of a labelled sketch, explain a two-way switch showing a
ceiling rose bulb, fuse and neutral link.

(il  State one example where switch in(i) may be used. (7 marks)
(©) State five I.E.E regulations related to conductors and cables. (5 marks)
6. (a) State three eIectrlcaI mstallatlon tests explaining the reason for carrying out cach test.

— Polarity fest o
= Ju{(’rr.riam'} ’{ j’J ’# (e -1 _
(b) State four advantages of metallic electrical LOI]dIJItS — Bl ppr-'m I gasy (4 marks)
[t’\(‘”’w v $Pry fad, G -(.lff

(6 marks)

- Qeyistane to hat ” Jorks

{c) Outline four advantages of mineral insulated mﬁtalshca{l:{led (M.LM.S) cable. q‘{'j %B Wark 1t
o (4 marks)
(d)  Explain three accidents that are likely to be experienced by electricians. (6 marks)
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SECTION C: WATER SUPPLY
Answer ONE question from this section.
T (a) Define each of the following properties of fluids:
(i) VISCOSIty;
(i1) specific gravity;
(iii)  surface tension. (6 marks)

(b)  Figure 1 shows a pipe conveying a steadily flowing fluid. The pipe tapers and
branches into two. Calculate:

(i) The discharges at C and D. -~
(i)  The velocities at B and C.

Use the following data

Diameter at A 400 mm
Diameter at B 300 mm T
Diameter at C 1150 mm [0
Diameter at D 200 mm

Velocity at A 1.5 m/s

Velocity at D 3.0 m/s. (10 marks)

N

Fig. 1
(c)  State two differences between impulse and reaction turbines. (4 marks)
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A river is approximately 12 m wide and 10 me deep. Three floats released upstream
travelled 30 m in 28 seconds, 24 seconds and 30 seconds respectively. Calculate the
discharge in litres per second given the correction factor is 075. (5 marks)
Explain each of the following stages of water treatment

) Filtration;

(1)  Water softening;

(iii) Disinfection. (6 marks)
State four advantages of waste water stabilization pond. (4 marks)
With the aid of a labelled sketch, explain “hydrological cycle”. (5 marks)
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